
Math 11L6, euiz #5, Spring 2013

lnstructions:

Name

1,. Consider the graph on the right. Determine the following:a. How many vertices does the graph have? List them.
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b. List the edges ofthe graph.
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c. For each vertex, state the degree.
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Using this information, determine if  the graph contains an Ivertices in order you,d need to travel to Iomplete it. lf not,
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Does the graph contain an Eurer path? rf so, rist the verticescomplete it. lf no! explain why not.
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f. In the space below, draw two graphs of your choice. Eachvertices (but may have more). The first graph should havegraph should have an Euler Fath (but not a circuit).
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